Day 13_Section 1.4 other composite shapes (Surface area) day 4.noteboolNovember 22, 2017
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Treangalay Prism
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Draw and label

each face.
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What is this "Composite Shape" made up of ?

Is there an overlap?
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Calculate the surface area Method 1)

20 cm .
7
6 cy 20 7

i

Step 1) Calculate the Surface area of each Prism INDIVIDUALLY

Rectangular prism (Surface )

20cm 20cm 6cm
6cm Times 2 Times 2 Sem Times 2 |Scm
A=
A =6cmx 20 cm A =5cm x 20 cm _ 282;26 o
=120 cm? =100 cm’
Area of rectangular prims = 2(120) cm? + 2(100 cm?) + 2(30cm?)
=240cn?  + 200cm’® + 60cm’
= 500 cm?
Triangular Prism 20em
6cm 20.4 cm 6em
20cm 4cm ;16 cm
\4%4““ A =6cmx 20 cm
20.4cm A=204cm X 6 cm =120 cm?
— 2
A=4emx6em < 1224em
A=(20cm X 4cm)/2 =24 cn?
= (80 cnt) /2
=40 cn?

Area of triangular prism = 2(40 cnt) + 24 cm® + 122.4cm” + 120cm?
= 80cn? +24 cm® + 122.4cm*+ 120cm?
= 346.4cr’

Step 3) Calculate the overlap area BUT remember 2 faces are involved

A=6cm X 20cm
=120 cn?

Total Surface Area = Rectangular prism + Triangular Prism - 2(OVERLAP)
= (500cm?) + 346.4 cm® -2 (120 cm?)
= (500cm?) + 346.4 cm? - 240cm’

= 606.4 cm?
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